
1, Æ2+3 π Ç

Sol :
Æ2+3 π Ç = Æ2 ∗ Æ3 π Ç = −Æ2

2, log H−1L
Sol :

log H−1L = log HÆH2 n−1L π ÇL = H2 n − 1L π Ç , Hn ∈ NL
3, Log H−1L

Sol :
log H−1L = H2 n − 1L π Ç

取n = 0
Log H−1L = −π Ç

4, Ç−2 Ç

Sol :

Ç−2 Ç = ÆI
H4 n+1L πcccccccccccccccccccc2 M−2 Ç

= ÆH4 n+1L π

5, Is it right cos HÇ zL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄¯
= cos HÇ z̄L

Sol :

cos HÇ zL =
ÆÇ HÇ zL + Æ−Ç HÇ zL
ccccccccccccccccccccccccccccccccccccccc

2
=

Æ−z + Æz

ccccccccccccccccccc
2

cos HÇ zL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄¯
=

Æ−z̄ + Æz̄

ccccccccccccccccccc
2

cos HÇ z̄L =
ÆÇ HÇ z̄L + Æ−Ç HÇ z̄L
ccccccccccccccccccccccccccccccccccccccc

2
=

Æ−z + Æz

ccccccccccccccccccc
2

So

cos HÇ zL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄¯
= cos HÇ z̄L

6, Is it right cosh HzL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄
= cos Hz̄L

Sol :

cosh HzL =
Æ−z + Æz

ccccccccccccccccccc
2

cosh HzL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄
=

Æ−z̄ + Æz̄

ccccccccccccccccccc
2

cos Hz̄L =
ÆÇ z̄ + Æ−Ç z̄

ccccccccccccccccccccccccc
2

So

cosh HzL¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄ ¯̄̄
≠ cos Hz̄L

7, Prove tan−1 HzL =
Ç
cccc
2

 log i
k
jjj

Ç + z
cccccccccccc
Ç − z

y
{
zzz

Sol :
let tan−1 HzL = ω

tan HωL =
ÆÇ ω − Æ−Ç ω

ccccccccccccccccccccccccccccccccccc
Ç HÆÇ ω + Æ−Ç ωL = z

ÆÇ ω − Æ−Ç ω = z Ç HÆÇ ω + Æ−Ç ωL
H1 − z ÇL Æ2 Ç ω = H1 + z ÇL

ÆÇ ω = i
k
jjj

1 + z Ç
cccccccccccccccc
1 − z Ç

y
{
zzz

1cccc2

Ç ω =
1
cccc
2

 log i
k
jjj 1 + z Ç

cccccccccccccccc
1 − z Ç

y
{
zzz

ω =
Ç
cccc
2

 log i
k
jjj

Ç + z
cccccccccccc
Ç − z

y
{
zzz

So

tan−1 HzL = ω =
Ç
cccc
2

 log i
k
jjj

Ç + z
cccccccccccc
Ç − z

y
{
zzz
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